GRAMATIKA 2 - HANDOUT 5 - ADJECTIVES - KEY

Rewrite the sentences using the word given while keeping the meaning the same:

1. Wyoming is approximately as large as Colorado.
THAN

Colorado is not larger than Wyoming,.

2.1 find movies not nearly as interesting as books.
MUCH

[ find books much more interesting than movies.
3. My math class is not as difficult as my physics class.
THE

My physics class is the more difficult class.
4.1think coffee is just as tasty as tea.

THAN

[ don't think coffee is tastier than tea.

5.]John is a better piano player than Ryan.

SUCH

Ryan is not such a good piano player as John.
6.Craig is much taller than David.

NEARLY

David isn't nearly as tall as Craig.

7. Peter speaks English just as poorly as Tom.
POOR

Tom's English is just as poor as Peter's.

8. My brother is not quite as lazy as [ am.

BIT

['m a bit lazier than my brother.

9. Munich is almost as expensive as Hamburg.
QUITE

Munich is not quite as expensive as Hamburg.

Translate:

1. Cim vic dostavame, tim vic chceme.

The more we get, the more we want.

2. Cim lepsi praci mas, tim méné se strachuje$ o budoucnost.
The better job you have, the less you worry about the future.
3. Do Ostravy je to méné nez 50 km.

It's less than 50 kilometers to Ostrava.

4. Bylo tam méné lidi, nez jsme cekali.

There were fewer people there than we expected.

5. New York je odsud mnohem dal neZ Praha.

New York is much farther from here than Prague.

6. NasSe vlasy jsou uplné stejné.

Our hair is exactly the same.

7. To neni pravda, tvoje vlasy nejsou zdaleka tak dlouhé jako moje.
That's not true, your hair isn't nearly as long as mine.
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Which of the two books is the more complex one?



